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CHM 151 Quiz (labled 6 for grade book but gives 8) 25 Pts Falll 2016 Name: __ ){_e.--.-1-~'------­
v 

1. ( 4 Pts) Estimate the enthalpy change for the combustion of one mole of acetylene, C2H2, to form 
carbon dioxide and water vapor. 

H-C C-H 

BE(C-H) = 456 kJ/mol 
BE(C=C) = 962 kJ/mol 
BE(O=O) = 499 kJ/mol 
BE(C=O) = 802 kJ/mol 
BE(O-H) = 462 kJ/mol 
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2. (5 Pts) Write a Lewis structure for the nitrate ion, N03-, showing all formal charges. 
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3. (1 Pt) What type"fofbonding is present in the compound Al(Cl03)3 (ionic, covalent, o@ 

iof)ic. &e'l-ween Af~w Ci..03- +~eN ccvc...Wbe:h".1e.e;., CR...a.Jr..J. 0 
4. (4 Pts) Write a Lewis structure for the chlorite i@~-Cl02-, that obeys the octet rule, showing all 

formal charges. _ . I · L ;tX 6 = / ~ 
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5. (3 Pts) Wnte a Lewis structure for OF2. • • 
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6. ( 4 Pts) Write a Lewis structure for the chlorate ion, Cl03-, that obeys the octet rule, and give the total 

number ofresonance structures for Cl03-that obey the octet rule. 
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7. ( 4 Pts) Carbonic acid, H2C03, is a weak acid that contributes to the taste and produces the carbon 
dioxide bubbles in all carbonated beverages. Write a Lewis structure for H2C03, The hydrogens are 
attached to oxygens. 
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